SECOND ONE-HOUR EXAM

1. (15 points). Find the limit:
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2. (15 points). Check whether the integral test applies to the following series, and if it
does, determine whether the series is convergent or divergent.
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3. (15 points). Use the limit comparison test, if appropriate, to determine whether the
following series converges or diverges:
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4. (15 points). Check whether the alternating series test applies to the following series,
and if it does, determine whether the series converges of diverges:
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5. (25 points). Find the interval of convergence of the power series
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6. (15 points). Evaluate the indefinite integral as a power series, and determine the

radius and center of convergence:
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